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Problem Set 5


Problem Set 5

Due Date: 5/12 (Day 6)

Points to note:

1. Christmas is coming, may the born of Jesus Christ be your blessing.

2. Study hard in the holiday, Hope you enjoy studying Economics and have improvement in exam! Remember don’t just remember the definitions, but get its way of thinking! That’s the key to success in the study of Economics.

Multiple choice: Please choose the best option

1. Which of the following demand curve is more elastic?

A. A steeply sloping demand curve

B. A gently sloping demand curve

C. The portion of demand curve which is above the mid point.

D. The portion of demand curve which is below the mid point.

2. No matter how the price of coke changes, Winnie’s expenditure on coke remains unchanged. Winnie’s demand for coke is

A. unitarily elastic demand

B. perfectly inelastic demand

C. perfectly elastic demand

D. elastic demand

3. Given that the demand elasticity of oranges is 0.8. If the equilibrium price _____________, the quantity demanded would increase by 20%.

A. increase by 16%

B. increase by 25%

C. decrease by 16%

D. decrease by 25%

4. Suppose the prices of pen and ruler increase by 8% and 13% respectively. If the quantity demanded of pen and ruler fall by 10% and 15% respectively, which of the following is correct?

A. Both the demand for pen and ruler are elastic.

B. Both the demand for pen and ruler are inelastic.

C. The demand for pen is elastic while the demand for ruler is inelastic.

D. The demand for pen is inelastic while the demand for ruler is elastic.

5. According to the table, when the unit price of product X increases from $1 to $2, its price elasticity of demand is

	Unit Price ($)
	1
	2
	3
	4
	5
	6
	7

	Quantity Demanded (units)
	100
	90
	80
	70
	60
	50
	40

	Quantity Supplied (units)
	40
	50
	60
	70
	80
	90
	100


A. elastic

B. inelastic

C. perfectly inelastic

D. unitarily elastic

Short Questions

6. a) Define price elasticity of demand.

b) Given that when the price of good X falls from $2 to $1.8, the quantity demanded increases by 30%. Calculate the price elasticity of demand for X. 

7. On a negatively sloped straight line demand curve, find out a point where producers can gain maximum total revenue. Explain.

Answer key to problem set 5

1.
C
2. 
A
3. 
D
4. 
A
5. 
B

6. a) It is the degree of responsiveness of quantity demanded to a change in price. 

b) % change in price =
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 Elasticity of demand = 
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 It is an elastic demand. 

7. When the demand is elastic (Ed>1), producers can decrease the price so as to increase their total revenue. 

When the demand is inelastic (Ed<1), producers can increase the price so as to increase their total revenue.

In other words, when the elasticity of demand is equal to 1, the total revenue will be maximized. This is on the mid point on a demand curve.

Comments:

1. Explain things logically. You have to explain why the total revenue at midpoint is greatest, just claiming Ed=1, or % change in demand equals % change in supply is not sufficient…why it means the total revenue is maximized?

2. To prove a general principle, (e.g. to prove the total revenue at mid point is the highest), do not just give me an example. An example is not sufficient to prove a general principle. 

3. At mid point, Price might not equal to Quantity demanded. And the area might not be a square.

4. Once again….quantity demanded, not quantity demand. 

5. An increase in demand is not a factor affecting supply, supply may not be increasing to respond to the increase in demand. 
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